Instructions

Bededd SSOFELAg 10 CovEl of Cpeaie This peoOuct Chease read Thete METRLTONE Compisiey

RCU Rack Mount Frame WV-Q70
for WV-RC700

PREFACE

The RCU Rack Mount Frame WV-O70 is provided for
mounting the Remote Control Unit WV-RCT00 on the EIA
19" rack.

MAJOR COMPONENT

1. Rack-mounting Spacer
This is used to mount the single Remote Control Unit
an the rack,

2. Rack Mounting Angles
Two Rack-mounting Angles should be used to mount
the double Remote Control Units on the rack,

3. RCU Jointing Bars
Thase bars are used to joint double Remote Control
Units,

INSTALLATION

1. Mounting of the single Remote Control Unit

1-1. Fix one Rack-mounting Angle{1) to the either side by
using two screws (M4 X 10, provided),

1-2. Attach the Rack-mounting Spacer(2) to the Remote
Control Unit by using four screws (Two M5x10 and
two M4 x 10, provided).

1-3. Mount the Remote Control Unit onto the ElA 19" rack
by usging lour rack mounting screws (not provided) as
shown in Fig. 1.

_;' To ElA 197 jack

(1-2) M5x10 screw X2

(1-3) Aack mounting screws

Fig. 1

2. Mounting of double Remote Control Units,

2-1, Fix two RCU Jointing Bars(3) on the side of Remote
Control Units by using four screws (M5 % 16, pravided)
as shown in Fig.2.

Upper joint Iq: 9|
Lower joint |-u [ @ |
L o
WV-RCT0D WwWv-RCT00

M5x168 acraw o4

-

Fig. 2



2-2. Attach two Remote Control Units by using four screws
(M4 x 25, provided) as shown in Fig.3.

2-3. Fix two Rack Mounting Angles(1} on both side of {he
jointed Remote Controt Units.

2-4. Mount two Remote Control Units onto the EIA 19" rack To EIA 18" rack
by using four rack mounting screws {not provided). ‘
(2-3} Bz
M4x10 screws X4 d o

{2-2)
M4x25 screw X2

Rack mounting screws

COMPOSITION
Rack Mounting Angle ........... .. ... ... 2 pes.
RCU Jointing Bar ........... o i 2 pcs.
Rack-mounting Spacer ... ... oo 1 pc.
SPECIFICATIONS
Dimensions :
Rack-mounting Spacer : 9-9/16"(W) x 5-3/16"(H} x 11"(D)
243.5mm{W) x 132mm{H} X 280mm{D}
RCU Mounting Angle : 1-1/87 (W) x 5-3/167(H) x 1-1/8"(D)
30mm(W) x 132mm{H) x 30mm{D}
RCU Jointing Bar : 4-11/16"(W) x 9/167(H) x 5/16%(D)
120mm{W} x 15mm{H} X 7.5mm(D)
Weights :
Rack-mounting Spacer : 3.5 1bs.(1.6 kg)

Dimensions and weights are approximate.
Specifications are subject to change without notice.,

STANDARD ACCESSORIES

MEXI0 SCIEW ... i i e 2 pcs.
MEX 1B SCrew .. o 4 pcs.
MAX25 SCrew ..o e 2 pcs.
MAXTD SCrBW e e 4 pcs,

Panasonic

Communications & Systems Company

Division of Matsushita Electric Corporation of America

PROFESSIONAL/INDUSTRIAL VIDEO

HEADQUARTERS:

50 Meadowland Parkway, Secaucus, New Jarsay 07034

EASTERN IONE:

50 Meadowland Parkway, Secaucus, NJ 07094 (201) 348-7620

CENTRAL ZONE:

425 E. Algonquin Road, Arlington Hts. IL 60005 (70B) 981-4826

SOUTHERN ZONE:

Dallas Region: 4500 Amon Carter Bivd., Ft Worth. TX 76155 (817) 6851117

Atlanta Region: 1854 Shackleford Ct. Suita 115 Norcroas. GA 20093 (404) 925-6841
WESTERN ZONE:

Seattle Region: 1200 Westlake Ave. N, Suite 508, Seattle, WA 58109 (206) 285-6883
Los Angeles Region: 6550 Katella Ave . Cypress, CA 90630 (714) 373-7275
MATSUSHITA ELECTRIC OF CANADA LIMITED

5770 Ambler Drive, Mississauga, Ontario, Canada L4W 2T3 (416} 624-5010
PANASONIC SALES COMPANY

DIVISION OF MATSUSHITA ELECTRIC OF PUERTO RICO, INC,

San Gabriel Industrial Park, 85th Infantry, Ave. KM. 9.5 Carolina, Puerto Rico 00620 {809} 750-4300 NO791-0

Fig. 3

YWVBQAZ529AN

To EIA 197 rack

Printed in Japan

® 13



